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Unit 6 Day 02 Exponential Growth & Decay Applications
!

Learning Target 5a: | can solve real-life problems that require the use of exponential models.

1-2: Write an equation that represents the described transformation of f(;) Then graph the function and state
the y-intercept, the domam and rangein mterval notation, and the equatlon of the asymptote.
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1. f(x)=2* Shiftleft2andup5 2. f(x) = (_JX Shift right 1 and down 3
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Equation: CX) ~ 2 4\’ E) Equation: ‘( — A ’:))

y-intercept: ‘ ¢ ‘ _ y-intercept: 0,-| ,
Domain: — R0, o0 Domain: -0 5 O
Range: C’) . OO Range: -3, 0

Asymptote: V) /6 Asymptote: U) o ——-27
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3-5: Write an equation of the exponential function that has. ..

3. ...exponential growth and an asymptote ofy =-2 () = 77 2/
, é N\ [ LVXTE
4. ...exponential decay shifted left 8 | }( — N —
| ) — X ~,
5. ...neither growth or decay with a y-intercept of (0, 5) ) (.7( - 5 _ '\/ (1) ' b‘“ € C@}n

6-10: Solve each word problem by using the back of ;our Unit 6 formula sheet.
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6. An investment account pay 5.4% annual interest(cdméounded auarterli)f 54,000 is placed in this
account, find the balance after 8 years.




8. An investment account pay 4.6% annual interestcompounded continuousli.)f $6050 is placed in this

account find the balance after 6 years.

I 9. A cup of green tea contains about 35 milligrams of caffeine. The average teen can@

{ approximately 12.5% of the caffeine from their system per hour. Estimate how much caffeineisin a
teenager’s body 3 hours after drinking a cup of tea. Include a sketch of the graph to represent this
model. ...When would you say the caffeme is gone from their body? Justify your answer
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10. You buy a new cell phone for $835. The value of the phone@gggs,es,by about 32% annually.

a. Write an exponential decay model for the value of the phone.

b. What is the “decay factor?” O ¢ C’fp o)"’ Sketch and label a graph....

c. Use the model to estimate the value of your cell phone after 2 years. ‘H /b /¢

d. Estimate when the phone will have a value of S700 & L) L \Wm{:h \
Mo ofy 6 W A002) =5 61

e. When will the value be less than $1007? Ai*u NS -~ .
636 J i Mt e~ 35(@

£ When do you feel would be a good time to trade in your phone to put $ toward a new one? Justify
your answer.




